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3.6.3 Bandwidth of an FM Signal 

The bandwidth of an FM signal could be calculated as: 

𝐵𝐹𝑀 = 2𝑛𝐵𝑚 

where  𝑛  = maximum number of significant sidebands, 

 𝐵𝑚 = the bandwidth of the baseband signal. 

3.6.4 Power in FM 

For sinusoidal input signal, the FM formula is 𝑦(𝑡) = 𝐴𝑐 cos(𝜔𝑐𝑡 + 𝛽 sin(𝜔𝑚𝑡)) 

Mean square power of each sideband of an FM signal: 𝑃𝑛 =
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Mean square power of an 𝐮𝐧𝐦𝐨𝐝𝐮𝐥𝐚𝐭𝐞𝐝 FM carrier is: 𝑃𝑐 =
𝐴𝑐
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Mean square power of total FM signal power is that delivered to the load: 
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when 𝑛 → ∞ (i.e. All sidebands are included), 𝑃𝐿 ≈ 𝑃𝑐 ≡ 𝑃𝑇𝑜𝑡𝑎𝑙 
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